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QUADRATIC EQUATIONS

Solved Examples

1.  The roots of  the equation

3a’z? + 8abx + 4b®> = Owhere a # 0 are


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_egqRqXOCk0vP
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Answer: B

° Watch Video Solution

2. The roots of the

222 + 142 + 9 = O are

equation


https://dl.doubtnut.com/l/_egqRqXOCk0vP
https://dl.doubtnut.com/l/_6hHTN37QLCp1
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Answer: D

o Watch Video Solution

3. The solutions of the quadratic equation

z* — 2622 + 25 = O are


https://dl.doubtnut.com/l/_6hHTN37QLCp1
https://dl.doubtnut.com/l/_zASiL4mI6lde

A.53

B.— 1,4

C.+1, +5

D.—5, 1

Answer: C

° Watch Video Solution

4, |If \/2x2—2az+1—2:13+3:0 then

solutions are


https://dl.doubtnut.com/l/_zASiL4mI6lde
https://dl.doubtnut.com/l/_6e90kd7CEXd9

Answer: A

o Watch Video Solution

5. The solutions of the equation

Vi —x+ /xr+9=>are


https://dl.doubtnut.com/l/_6e90kd7CEXd9
https://dl.doubtnut.com/l/_mTLWv5VVsjh2

A0, — 10

B.O, — 5

C.—4, — 6

D. 0, 10

Answer: B

o Watch Video Solution

6. In the equation 2%"3 = 65(2Y — 1) + 57

then, solutions are


https://dl.doubtnut.com/l/_mTLWv5VVsjh2
https://dl.doubtnut.com/l/_Xeiiv4HwkTis

Ad, —3

B.—3, —3

c.3, —3

D.3,3

Answer: C

° Watch Video Solution

Exaam Booster For Cracking Exam


https://dl.doubtnut.com/l/_Xeiiv4HwkTis

1. The solution set for equation 4z% — 62 = 0,

whenx € N is

A. {0, 1}
B.{1, 2}
C.{0}

D. {¢}

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_K7qJ2F1CeOEk
https://dl.doubtnut.com/l/_oJF0qQT7eZEG

2. The values of x in the equation

a’b’z? — (a2 +b2)w +1,a#1,b# 0is

1
a2

B. —

S

a
1
2
1 1
C§7b_2

D. None of these

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_oJF0qQT7eZEG

3. The value of '@ for which the equation

az® — 2,/5x + 4 = 0 has equal roots ,is

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_Exn7KjauHW7l
https://dl.doubtnut.com/l/_0gC0CTh938XQ

4, If the equation
(1+m*)z® + 2mez + (¢ —a®) =0  has
equal roots, prove that ¢* = a*(1 + m?).

Aa® =c*(1-m?)

B.c” = a’(1—m?)

C.a® = (1 +m?)

D.c*> = a2(1 + m2)

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_0gC0CTh938XQ
https://dl.doubtnut.com/l/_G5MRzIFvgjr4

5. If one solution of 322 =8z +2k+1 is
seven times the other, find the other solution

of k

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_G5MRzIFvgjr4

6. The quadratic equation ,whose roots are

44 /7 4 -7 .

5 and 5 IS

Adz? +162 +9=0

B.422 — 162 — 9 =0

C.4zx’> —16x +9 =10

D.4z%2 + 162z — 9 =0

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_E5bBIjWqyBbH
https://dl.doubtnut.com/l/_YMnm34tMWPRw

7. If o and B are roots of the equation
z? — 8z +p=0 and o® + % = 40, then p
is equal to

A 12

B.10

C.9

D. 11

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_YMnm34tMWPRw
https://dl.doubtnut.com/l/_dzaC9F1wQdIs

8 If o and 8 are roots of the equation

x> — 5z + 6 = 0, then the value of o — j3°

A5

C.*+5

D. +4

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_dzaC9F1wQdIs

9. If a and B are the roots of the equation

az® 4+ bx + ¢ = 0, then an equation whose

1 1

roots are — and — is
Qo

Abz:+ax+c=0
B.ax’ — bz +c=0
Cex’+ar+b=0

D.ct’ +bx +a=0

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_S7FQHdHfQ3vx

10. If a and B are the roots of a quadratic

equation such that
a+pB=24and a— =8 , then the
equation is

Az — 24 — 128 = 0

B.z2 4+ 24z + 128 = 0

C.z2 + 24z — 128 = 0

D. None of these

Answer: D

‘ o Watch Video Solution


https://dl.doubtnut.com/l/_wSUU3Zc6RMUk

11. The two consecutive positive odd integers

,the sum of whose squares is 130 are

A.79

B.9,6

C.3,-5

D. None of these

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_wSUU3Zc6RMUk
https://dl.doubtnut.com/l/_ieSvvf8ZASKA

12. The side (in cm) of a right triangle are

x — 1, x and x + 1.The area of triangle is

A. 5em?
B. 3cm>

C. 6cm?

D. None of these

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_ieSvvf8ZASKA
https://dl.doubtnut.com/l/_gpJ2QT9YeCFL

13. Divide 16 into two parts such that twice the

square of the larger part exceeds the square

of the smaller part by 164.

A. 58

B.6

C.10

D. None of these

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_4cwCPzzMibsH

14. An equation equivalent to the quadratic

equation 2> — 6z + 5 = 0is

A. Yes
B. No
C. Cannot say

D. None of these

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_dhAqBUnEIOH1
https://dl.doubtnut.com/l/_u2iMNPEODRG1

15. The roots of the equation z? + pr+q=20
are 1 and 2 .The roots of the equation

gz’ — pr + 1 = 0 will be

1
A=, —1
1
B. 5, 1
1
C.—5,1

D. None of these

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_u2iMNPEODRG1
https://dl.doubtnut.com/l/_XDHZPHu1nNbv

16. If the roots of the quadratic equation
pz? + gx + r = 0 are reciprocal to each other

,then the relation between p and r is

Ar#p
B.r=p
Cr=gq

D. None of these

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_XDHZPHu1nNbv

17. Sum of roots is -1 and sum of their
1
reciprocals is 5 then the equation is
Az’ —z2—-6=0
B.z’ 4+ 2 +6=0
Czl—z+6=0

Dz’ +2—6=20

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_LEyJiF7upQu5
https://dl.doubtnut.com/l/_5HATv3UWChAH

18. The value of x for which 214 —27+2 — 3

C.0

D.5

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_5HATv3UWChAH

19. For what value of k will the equation

2 — bx k—1 :
——— = —— have roots reciprocal to
ar — ¢ k41

each other?

c—1
c+1

c+1
c—1

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_x5AnIPNFBic8

20. [ fa and [ be the zeros of the polynomial

ax® + bz + ¢, then the value of /% + ,/g

A ,/a/b
B.,/b/a

C./ab

D. None of these

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_F9uclIwXhsuu
https://dl.doubtnut.com/l/_CkDqDPwstSd4

21. The condition that one root of
prl+qgr+r=0 may be double of the other

is

A. q2 = 9rp
B.2¢° = Orp
C. q2 =7rp

D. None of these

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_CkDqDPwstSd4
https://dl.doubtnut.com/l/_TRicXukHQ2Wd

22, If «aand B are the roots of

20> —6x +3 =0 , then the value of
(%+§)+3(é+%)+2aﬂis

A 13

B.4

C.6

D.3

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_TRicXukHQ2Wd

23. Find the solution of the equation

Vi —16 — (z —4) = /2? — 5z + 4

A.(4,5)
B.(4, —13/2)
C.(5, —13/2)

D. None of these

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_vGEoePDNer4b
https://dl.doubtnut.com/l/_y1KBpYUWY6Cp

24. In a group of children ,each child gives a

gift to every other child ,If the number of gifts

is 132 ,then the number of children are

A 11

B. 12

C.14

D. None of these

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_y1KBpYUWY6Cp
https://dl.doubtnut.com/l/_n10yG6P0Ez80

25. Out of a certain number of Sarasbird one -

fourth the number are moving about in lotus
1 o1

plants , 9 th coupled with 1 th as well as 7

times the square root of the number ,move on

a hill , 56 birds remain in Vakula tree .Then ,the

total number of birds are
A. 756
B. 24

C.124

D. 576


https://dl.doubtnut.com/l/_n10yG6P0Ez80

Answer: D

o View Text Solution



https://dl.doubtnut.com/l/_n10yG6P0Ez80

